KEY -- Horton Culture Record Book Analysis Study Guide

Copyright Dollars and Hours 2004, Iowa FFA Association

Utilize the completed “Dollars & Hours” record book to evaluate Horton’s projects.

1. How much did Horton’s ‘SAE Productive Equity’ change from the beginning of the record year to the end of the record year?

$1003.93 - $926.00 = $77.93  (Balance Sheets)

OR  Iowa Degree Financial Sheet, Line 24

2. What was Horton’s net income from his vegetable production enterprise?

$696.36: 1.Dollars&Hours; Income and Expense Summary

3. List Horton’s ‘Return Per $100 Invested ‘ in his vegetable enterprise.

$220.91: 1.Dollars&Hours; Income and Expense Summary, bottom of page

4. Is this return (question #3) better or worse than investing $100 in a typical savings account?

Better, a typical savings account may only return 1% to 4%.  ($104 return per $100 invested)

5. What was Horton’s net income from his lawn mowing placement enterprise?

$186.00: Dollars and Hours; Income and Expense Summary

6. Why was Horton’s lawn mowing enterprise classified as placement rather than entrepreneurship?

Horton did not own the mower; it was borrowed from his father.  Entrepreneurship programs require ownership by the student.

7. Did Horton earn enough money mowing his father’s lawn to cover the cost of tools and equipment rented from his father?

Yes, Horton earned $186.00 from lawn mowing and the cost of tools and equipment rented was $170.00.  Therefore, Horton earned enough money to cover rental costs. Dollars and Hours; Income and Expense Summary.

8. How much did the value of Horton’s SAE inventory change from the beginning to the end of the record year?

$325.93 increase 

Subtract beginning inventory from ending inventory.  Horton had no beginning inventory, therefore the value of change in inventory equals ending inventory of $325.93. Dollars and Hours; Inventory

9. Assume that 50% of the sweet corn seeds germinated to grow into corn plants.  On average, how many ears did each corn plant produce?  (Hint: Utilize the “Extra Sheet.”)

(See example equations on the Horton.1Dollars&Hours;  Extra Sheet.)

1.686 ears/plant

Horton planted 4000 corn plants and a total of 3372 ears were sold.  4000 X .50 = 2000 plants germinated.  3372 ears / 2000 plants = 1.686 ears/plant.

10. In his vegetable production SAE, what expense category was the highest?

Machinery cost was Horton’s greatest expense associated with the production of sweet corn.  His total cost for machinery rent was $ 349.00 out of $575.92 total expense, or 61% of expenses. Dollars and Hours; income and Expense Summary

11. Horton thinks that he planted some his sweet corn seeds too deep.  Assume that Horton could have increased his seed germination to 75% by planting at the proper depth.  Estimate how many additional ears of sweet corn he could have produced.  (Hint: Utilize the “Extra Sheet”) 

1686 additional ears of corn

80% germination rate of 4000 seeds is 3200 plants.  Earlier calculations showed an average of 1.686 ears/plant.  

3200 X 1.686 = 5395.2 ears.  

5395.2 subtract 3372 = 2023.2 additional ears of sweet corn

12. Assume that Horton could have sold the additional ears of sweet corn for $1.50 per dozen.  How much additional income could he have generated?

$252.90 additional income

Horton would have had an additional 2023.2 ears of corn at 80% germination.  2032.2 additional ears divided by 12 equals 140.5 additional dozens.  168.6 dozens multiplied by $1.50 equals $252.90.
13. Originally, Horton’s father suggested that Horton purchase buy his used push mower.  Aggie would sell Horton his mower for $50.00.  When answering the next questions, please assume the following: a) Horton could purchase his father’s push mower for $50; b) gas for the push mower would cost him $1.50 each time he mowed his father’s lawn; c) if Horton used his own lawn mower, Aggie pay Horton a flat rate of $15 each time he mowed the lawn; and d) the used mower would have an ending value of $0 after 3 years of use.

a. Would Horton have made more or less money if he had purchased his own mower? 

(Hint: Utilize the “Budget” and “Depreciation Calculator” templates in the – “2.Supplemental Templates” file.)

He would have made more money, plus he would own the mower.

2.Supplemental Templates; Budget & Depreciation Calculator.

Dollars and Hours; Income and Expense Summary

According to the Dollars and Hours Income and Expense Summary, Horton earned $187.00.  

Enter the following information in the Depreciation Calculator (3 Yr Schedule):

Description of item


Used push mower



New or Used



used



Acquisition Cost



$50.00



Ending value after useful life

$0.00



Amount to be depreciated

$50.00



Resulting Depreciation Table;
  Depreciation taken
 Remaining Book Value



1st Year

$8.33


$41.67



2nd Year
$16.67


$25.00



3rd Year

$16.67


$8.33



4th Year

$8.33


$0.00



(Continued on the next page.)


On the “Budget” sheet, enter the following information:


Expected Income (Receipts)



Number


$ Value



Value of ending inventory related to this enterprise
1 Used mower

$41.67



Value of products sold.




17 mows @ $15
255.00







Resulting Total Income:

$296.67

Expected Expenses




Number


$ Value



Equipment costs




1 mower

$50.00



Gasoline costs





17 mows @ $1.50
$25.50


Resulting Total Expenses:    
$75.50

Resulting Net Income:
   
$221.17

Using the “Budget” resulting Net Income and the actual Net Income:


Actual Net Income
$187.00


Budget Net Income
$221.17

Horton would have made more money if he had purchased the lawn mower, and conducted an entrepreneurship SAE.
b. What are the potential advantages of Horton purchasing his own mower?

· Greater profits

· Opportunity for business expansion to other customers

· Ownership experience

c. What are the potential disadvantages of Horton purchasing his own mower?
· Responsible for repairs costs

· Gas purchase and transportation

· Storage

14. To earn the Iowa FFA Degree, Horton would need at least $1000.00 of total SAE-related earnings, and show at least $1000.00 productively invested. (see “Iowa Degree Financial” worksheet of the “Dollars & Hours” file)  

a. How many more dollars of SAE income does Horton need to earn? 

Horton must earn $117.64.  

(Dollars and Hours; Iowa Degree Financial, Total SAE Related Earnings: $882.36) 

b. How many more productively invested dollars would he need?

Horton must invest an additional $922.07.  

(Dollars and Hours; Iowa Degree Financial, Total Productively Invested Assets: $77.93) 

